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1.	Introduction
mmWave NR BS receiver in-channel selectivity was further discussed in RAN4-NR#3, and a way forward was agreed to share further analysis on this requirement, interfering signal and wanted signal [1].
This contribution provides analysis and proposal to specify the mmWave NR BS receiver in-channel selectivity requirement in the RAN4 specifications per the agreed way forward.

2.	Discussion
[bookmark: _Toc336211415]Figures 1 to 5 below show the UL interference-over-thermal (IOT) simulation results for different deployment scenario using the existing simulation assumptions of WP5D coexistence study captured in the TR 38.803 [2]. Here IOT is defined as the ratio between the total interference (with or without interfering system) and the BS noise floor.
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(a) 0 dB UL TPC error
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(b) 9 dB UL TPC error
Figure 1: CDF of UL IOT of victim BS (UMa)
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(a) 0 dB UL TPC error
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(b) 9 dB UL TPC error
Figure 2: CDF of UL IOT of victim BS (InH 30GHz)
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(a) 0 dB UL TPC error
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(b) 9 dB UL TPC error
Figure 3: CDF of UL IOT of victim BS (InH 45GHz)
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(a) 0 dB UL TPC error
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(b) 9 dB UL TPC error
Figure 4: CDF of UL IOT of victim BS (UMi 30GHz)
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(a) 0 dB UL TPC error
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(b) 9 dB UL TPC error
Figure 5: CDF of UL IOT of victim BS (UMi 45GHz)

It can be seen from the results in Figures 1 to 5 that 15dB should sufficiently cover the expected UL IOT (over 99.5%-tile with 0dB UL TPC error and over 98%-tile with 9dB UL TPC error) in all simulated deployment scenarios.
To investigate the UL IOT for below 6GHz NR BS from an adjacent E-UTRA system, UL simulation runs have been performed for 100MHz NR victim and 10MHz E-UTRA aggressor in urban macro scenarios (which is the most demanding case for the BS dynamic range requirements as the UE transmit power will be the highest to compensate for the highest path loss) with 750m ISD (i.e. 500m cell range) at 3.5 GHz carrier frequency, and the simulation results are provided in Figures 6 and 7 below. The simulation assumptions and parameters used here are the same as those RAN4 used for NR coexistence simulation for WP5D reply, as recorded in TR 38.803 [2], except the following:
-	Besides coordinated site deployment (0% grid shift), un-coordinated site deployment (100% grid shift) between victim and interfering systems (which RAN4 has long been using in below 6GHz coexistence simulation).
-	ACLR and ACS models for asymmetric victim and aggressor bandwidths, as explained in TR 36.942 [3].
-	8x16 antenna array (with 3dB polarization gain) is only used in the NR BS, while passive directional antenna is used in the E-UTRA BS.
-	Omni-directional antenna is used in both NR and E-UTRA UE.
-	LOS path loss formula is slightly modified per the updated ones in TR 38.901 [4].
-	E-UTRA interfering UE with uplink power control parameters of gamma=1 and CLxile=112.
[image: ] [image: ]
(a) 0 dB UL TPC error
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(b) 9 dB UL TPC error
Figure 6: CDF of UL IOT of victim BS (UMa 0% grid shift)
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(b) 9 dB UL TPC error
Figure 7: CDF of UL IOT of victim BS (UMa 100% grid shift)

Comparing the simulation results in Figures 6 and 7 to those in Figure 1, it can be seen the UL IOT for below 6GHz NR BS is around 10 dB higher than that for mmWave NR BS. It has been agreed in [5] that the current 25dB E-UTRA BS receiver in-channel selectivity could be reuse for below 6GHz NR BS, hence (25-10=)15dB should be a suitable level for mmWave NR BS in-channel selectivity based on the agreed below 6GHz NR BS receiver in-channel selectivity. Therefore, it is proposed to specify the mmWave NR BS receiver in-channel selectivity requirement as 15dB.

3.	Conclusion and proposals
This contribution has provided analysis and proposal to specify the mmWave NR BS receiver in-band blocking requirement in the RAN4 specifications per the agreed way forward.
Proposal:
To specify the mmWave NR BS receiver in-channel selectivity requirement as 15dB.
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